#GKF 2015 FMETHAREAZERATLRHAE

ERUVAFHEEBEA L)
BETL FTHLZE, 2HLE BIULE, 82 FLEEYE

BEEH E M b ¥ BNEKB (731)

— EFEGOS, BME259): (BE A B Cy DHEFE—ITER)
1. A IINMFEYFR I ER NO A Cly, #E—@iRE N R E RN
NO(g) + 1/2Cl,(g) = NOCI(g), “FHilf, A& kgt Ei 2.
(A) P(NO)=P(Cly) (B) RNO)=P(NOCI) (C) RNO)<P(Cl;) (D) RNO)>P(Cly,)
2. AIEILHEFR BN 1) — LA B -
(A) NH3, NH, (B) NaOH, Na* (C)HS, S* (D) H,0, OH
3. CLRIHEAL 2 B W AN, AR I 272 I )3 26 5 K ORI v P o 4 KT
I, D0 RS ) B A A
(A) Tt e (B) 1HIRE T, 3G NI
(C) fHi& T, IfiEfes (D) HiR T, SRash
4. SARRPL CO+H0=CO, + Hp, MSNH] AGm 5 AGm” 51K R A K 1198 R A2 -
(A) AGn 5 AGH BIGHRMELR  (B) AGn 5 AGH ¥ HRREER K
(C) AGn S REIEAR, AGH Sk R EEILR
(D) AGn S RBIELR, AGR SikREIEH K
5. §9RR ISR bR ER H—MR AL 5 —Fhis B2 KNI — (—JoIRE — T
WO AT BORZ T
(A) Koy (B) Kz  (C) (KarxKp2)/Kyy (D) K/ (Ka1xKp2)
6. %1 HaPO, ) pK%=2.12, pKZ=7.00, pK’ =12.36, 0.10mol-L*Na;HPO, i (1]
pH 214
(A) 4.7 (B) 7.3 (C) 10.1 (D) 9.8
7. FHURBIF ASm> 0 f:




(A) CO(g) + Clx(g) » COCl,  (B) 2S02(g) + O2(g) — 2S03(g)
(C) NH4HS(s) — NH3(g) + H2S(g) (D) 2HBr(g) — Ha(g) + Br2(g)
8. Nk EYE T H e T A2

(A) BeCl, (B) H[BF.] (C) BOs (D) Na[AI(OH)4]
9. TRIN ARSI~ i 4
Ha(g) + S(s) H2S(9), Ki
S(s) + Oz(9) =—502(9), K>
U SR Ha(g) + SO2(g) =—==05(q) + HS(q) 1T 1 $U A -
(A) KitK; (B) Ki-Kz (C) KiKo (D) Ki/Kz
10. NS, BB AR K2
(A) 1] (B) C) & (D) &
11. FAIEER R T — IR E:
(A) H3AsO3 (B) H3BO3 (C) H3PO3 (D) H3CO3
12. R4S THIEER, O hEg2:
(A) 1/2 (B)1 (C) 3/2 (D) 2
13. s X G R RBE A I B 22 -
(A) Li0O; (B) Na;O (C) K02 (D) Rby0O
14. TN IC 2R 14k 25 1 o e AR AL«
(A) Be il Mg (B) My Fil Al (C) Li il Be (D) B A1 Al
15. FHIETHi & KI RN R RE15 2P I J0 O 2 -
(A) Cu™* (B) Fe™" (C) Hg™' (D) Hg:™"

16. 51 9643 T 1A F A7 i3k IEAf ¥ -
(A) KREHEE S H A
(B) 7 B Ay ek 2 W AF R 1 Jo 1G24
(C) Moy 1A] RAFAE R /g
(D) 4 HU I AEAET A A4S 531 1]

17. FHIGFEE T, LRI BAS I DU T A fr) — 4L
(A) SO, Clos, PO (B) SiCls, SnCly, CCl,
(C) BFs, B(OH)s, BH4 (D) SF4, XeFs, SeFy




18. MAIEL &, A THREAE SR A2 -

(A) [Fe(CN)e]* (B) [Fe(CN)e] (C) [FeFs]* (D) [Co(SCN)4]*
19. JH=RAGI Fe?* i -

(A) NH,SCN (B) Ks[Fe(CN)g] (C) Ka[Fe(CN)e] (D) HaS
20. THISFIRALY), HEVET NaOH 2

(A) SnS, (B) As,Ss (C) BiSs (D) SbySs

21, XP A — AT R 2 BRI BUR 700 1 (B Fo, Oz BASL), Hor150
T8 R (IR LA AN IR A 1) A
(A) 825 < 6% (B) O2px < mapy (C) d2py = m2pz (D) mopy < 8*2px
22. NaNOsg 32 I3 it 1) 7= ) 72 -
(A) Na,O,NO»,0, (B)NaNO»,0,  (C) NaNO»NO»0, (D) NaO,NO,0;
23. BRI ) Fe™ bR, I T 0 e i R A2 -

(A) FeCly ¥ T7K (B) Hiil& ARSI T 7K
(C) FeCls ¥ ek g (D) BkJE i TR
24. FHRAI Fe AR 2 -
(A) KI (B) NH4SCN (C) NaOH (D) NHz* H,0
25. PCls (1) 73 fi# SO PCls==—==PCls+ Cl,,7E 200°C it F|*F4#iif, PClsF 48.5%7) i,

£ 300°CIABI Iy, A 97% 0, UL NN :

(A) WS (B) ML (C) BEATBAWAR (D) TEIEHIWIR .
ZREE(15 5, B 155)
1. C1 CO2(g)A1 MgO(s) 5 & MgCO3(s) I S M T A S B, T AfHR (MgCO3,8) 1
0 kd-mol™ (3>, <, =).
2. FEARTIIBR A, 4s 1 3d IREIIRER MR Ess_ 2 Eaqs BT, REEM
KN Ess_ 3 Eaas MERIT, BEEMMNEs__4  Fa (B>, < ).

5

3. FIWT o 40 m =K NaCl RbCl, CuCl__ 6 NaCl, MgO_ 7 BaO,
N&C' 8 MgCI2 (i,E\>9 <9 :)o

4. B IYIIRteER: eRA 9
5. [Ni(CN)4]* 5[Zn(CN) > B B Z AR LA RIS, AEA[NI(CN)]Z B Uk




10
= E5EHMENARERMETERIFERF: (159, BHE57)

1. 1) Ak Y 7R ] A 3% 0 A R o
ZRNRANE BRI EF .
3.1 R KoCrpO7 3§ R A il N SO, B, ¥ Wi H A5 0 A8 4 {4,

O EERETIEM:(25 4, SMESH)

L WA FHEES O 1 O 0 FHIER NI, FH4R R IRE P T8 2 S il
PEPDJ -
2. CCly KSR, T SiCly B 5 KAt o 5 73 W SR A

3. LRER AN SRR A AL S 0 B T ARAAE (P55, FOO v e B R AR R/
Zns, CdS, HgS
4. FIEFE TN TR 3d%4st, R C AR AR A LR ? 45 LR? o

MX? A AmR? Hrrioe)L?
5. WAl F SEER T IRAIESE POy HEYIAFRIM A ? 5 A R R,

AT EFE 30 &)

1. (10 43) B Ho(l) HgO(s) 0,(q)
AHO/kI-mol™ 0 -90.8 0
Sm2/ J-molt.K? 76.0 70.3 205.1

(1) L35I N 2HgO(s) = 2Hg(l) + O,(g)7E 298.15K i & 75 [ K #E4T 2

(2) THE B B R IBEAT 1 B A B

2. (10 43) % pH=5, [MnO4]=[CI1=[Mn*]=1mol-L* p(Cl,)=101325Pa i}, REFH T
B 45 AR 2 BT Z . 2MnO, +10CT+16H " ==2Mn?**+5Cl,+8H,0
[E®(MnO,/Mn?"=+1.491V, E° (Cly/CI') =+1.36V]

3.(10 43) KFEHN 0.020 mol-L™ ] Ph* A1 Mn?" VB & R B HoS B ALy




PO* I Mn?*, pH RIFEHIFEAATEME? (K, (PbS) =1.0x10%°, K¢ (MnS) =2.0x10™"°
HoS: K2=1.3x107, K’ =1.3x10").

75 JEHRRE (15 53)

1 —FhEAEh AWETOKIG, AR, ARIEMESE B A, RN A 3 ETTE C i
H, Sk B BEME KMnO, 7B 1. #3@AN Cl, T AT, Cl il 2RI 2IE T D,
D 5¥ERIEH, FAAGYEE E. WHIE Ay By Cv Dy E SN2 15 HAHK
) 2 i 77 R 2
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